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Name: __________________________________



1
The expression [image: image1.png]NG ENERNE



 is equivalent to

1) [image: image2.png]amaf3 - ka2



   2) [image: image3.png]Imaf3 - 32



   3) [image: image4.png]m—caf2



   4) [image: image5.png]12m—kc~f6





2
The product of [image: image6.png](34 A5



 and [image: image7.png](3- A5



 is

1) [image: image8.png]


   2) [image: image9.png]14-6.f5



   3) 14   4) 4

3
The expression [image: image10.png](2-347)



 is equivalent to

1) [image: image11.png]


   2) [image: image12.png]


   3) [image: image13.png]4— 1207 + 92



   4) [image: image14.png]4— 12407 + 62
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The legs of a right triangle are represented by [image: image15.png]


 and [image: image16.png]


.  The length of the hypotenuse of the right triangle is represented by

1) [image: image17.png]Jatea



   2) [image: image18.png]


   3) [image: image19.png]NEP)




   4) [image: image20.png]
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The expression [image: image21.png]f4a

16



 is equivalent to

1) [image: image22.png]3’



   2) [image: image23.png]34"



   3) [image: image24.png]


   4) [image: image25.png]
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The expression [image: image26.png]27a® 4 16m8



 is equivalent to

1) [image: image27.png]6ab?



   2) [image: image28.png]6ad*



   3) [image: image29.png]12ab?



   4) [image: image30.png]12abt
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The product of [image: image31.png]


 and [image: image32.png]


 expressed in simplest radical form is

1) [image: image33.png]


   2) [image: image34.png]


   3) [image: image35.png]


   4) [image: image36.png]
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The expression [image: image37.png](e ) 216"



 is equivalent to

1) [image: image38.png]12x°3/2



   2) [image: image39.png]1203 2x



   3) [image: image40.png]


   4) [image: image41.png]6x*3/2
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What is the product of [image: image42.png]


 and [image: image43.png]


?

1) [image: image44.png]


   2) [image: image45.png]


   3) [image: image46.png]


   4) [image: image47.png]
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The expression [image: image48.png]dab {76 — tan] 1857 + Tabf6b



 is equivalent to

1) [image: image49.png]2ab A6k



   2) [image: image50.png]V6ab 2k



   3) [image: image51.png]~Sab + Tabl6h



   4) [image: image52.png]Sabaf2b + Tab A6k
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The sum of [image: image53.png]


 and [image: image54.png]


, expressed in simplest radical form, is

1) [image: image55.png]


   2) [image: image56.png]22263 2122



   3) [image: image57.png]


   4) [image: image58.png]102,
0a*bife
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What is the value of [image: image59.png]5
ax? 22 x



 when [image: image60.png]


?

1) [image: image61.png]


   2) [image: image62.png]


   3) [image: image63.png]


   4) [image: image64.png]
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The expression [image: image65.png]027



 is equivalent to

1) [image: image66.png]


   2) [image: image67.png]


   3) [image: image68.png]2432



   4) [image: image69.png]243
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The expression [image: image70.png]


 is equivalent to

1) [image: image71.png]


   2) [image: image72.png]


   3) [image: image73.png]


   4) [image: image74.png]
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Which expression is equivalent to [image: image75.png](o)



?

1) [image: image76.png]


   2) [image: image77.png]3xy



   3) [image: image78.png]


   4) [image: image79.png]
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The expression [image: image80.png]


 is equivalent to

1) [image: image81.png][ =



   2) [image: image82.png]et



   3) [image: image83.png]


   4) [image: image84.png]
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When simplified, the expression [image: image85.png]


 is equivalent to

1) [image: image86.png]


   2) [image: image87.png]


   3) [image: image88.png]


   4) [image: image89.png]14
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The expression [image: image90.png]2
-1



 is equivalent to

1) [image: image91.png]


   2) [image: image92.png]


   3) [image: image93.png][ 1y
@ -1y



   4) [image: image94.png]
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The expression [image: image95.png]


 is equivalent to

1) [image: image96.png]30c”




   2) [image: image97.png]3%’



   3) [image: image98.png]3%’




   4) [image: image99.png]
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The expression [image: image100.png]a1ty



 is equivalent to

1) [image: image101.png]3

y



   2) [image: image102.png]3

y



   3) [image: image103.png]Ixy



   4) [image: image104.png]Ixy
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The expression [image: image105.png]ity



 is equivalent to

1) [image: image106.png]2

y



   2) [image: image107.png]8.
225y



   3) [image: image108.png]A%

y



   4) [image: image109.png]8.
4x°y
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Determine the exact value of [image: image110.png]


 as a fraction in simplest form.

23
Express [image: image111.png]AJ1osety?




 in simplest radical form.

24
Express in simplest form:  [image: image112.png]




25
Express [image: image113.png]


 in simplest radical form.
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ANS:
1

[image: image114.png]R N R NE) PR SV ERE W N




REF:
011710a2

2
ANS:
4

[image: image115.png]3+ 53— Af5)=9-f25 -4




REF:
081001a2

3
ANS:
3
REF:
061407a2

4
ANS:
1

[image: image116.png]- [x+ﬁ]z+[rﬁ]z:Ax’+zﬁx+z+x’—zﬁx+z:«2x’+4




REF:
011626a2

5
ANS:
3

[image: image117.png]3
34 By - 4g®d





REF:
061204a2

6
ANS:
1

[image: image118.png]2 27a® 4 168° = 30 262 = 6ab?




REF:
061504a2

7
ANS:
4

[image: image119.png]am? 3 10m = 3 aom





REF:
081627a2

8
ANS:
4

[image: image120.png][i zh’][3 mx‘]:i .2t =327 - 642




REF:
011421a2

9
ANS:
1

[image: image121.png]26408 = W42 e b® = 4ab?





REF:
011516a2

10
ANS:
4

[image: image122.png]Aabaf2b - 3a~9b? AJ2b + TabJ6b = dab~J2b - Sab~J2b + TabJ6b = ~5abA{2b + Tab-J6b




REF:
fall0918a2

11
ANS:
3

[image: image123.png]Jea's? +3[(27-6)a*b?
aAftab? +3a% 6ab?
4] 6ab?




REF:
011319a2

12
ANS:
4

[image: image124.png]1 1
A16) = 4(16)* +16° + 16 *

:4(4)+1+%

1
-3




REF:
081503a2

13
ANS:
2

[image: image125.png]



REF:
011707a2

14
ANS:
4

[image: image126.png]



REF:
011118a2

15
ANS:
1
REF:
011306a2

16
ANS:
1

[image: image127.png]



REF:
081611a2

17
ANS:
2

[image: image128.png]



REF:
081011a2

18
ANS:
2
REF:
061011a2

19
ANS:
1

[image: image129.png]2

3 2a b = 3abe”





REF:
011606a2

20
ANS:
1

[image: image130.png]31

¥




REF:
081504a2

21
ANS:
1

[image: image131.png]16

¥




REF:
061107a2

22
ANS:


[image: image132.png]



REF:
011729a2

23
ANS:


[image: image133.png]108%y° = 182y =y oy

6y’




REF:
011133a2

24
ANS:


[image: image134.png]



REF:
011231a2

25
ANS:


[image: image135.png]31t = 227 = 5afx? af37 = 20902 A3 = 5537 — 63037 = —xaf R





REF:
061032a2

